Compare your Predictions to the actual F2 Outcome

Use your predicted percentages (from the yellow F2 Predictions) to determine if your actual numbers (white data tables) support the inheritance pattern in your hypothesis.  

In order to compare we need to FIRST calculate your Expected Numbers.

Steps for calculating Expected (Predicted by Hypothesis) Numbers of Flies:

1. Look at you F2 Predicted Phenotypes for each type of fly.

2. Using your Data tables combine the all phenotype totals for an overall total of ALL flies per vial.

3. For each Phenotype %, change the % to a decimal.

4. Multiply this number by the total of ALL flies from that vial (cross).

5. This is your Expected Number for that Phenotype.

6. Use the table to calculate all your Expected #s from each vial.

Example:  

Let’s say in your F2 Predictions you predicted a Phenotype % for White-eyed Females of 25%.

Your overall total of all flies from that vial was 172.

25% = .25

.25 X 172  =  43

Expected White-eyed females from Vial 1 = 43

	Phenotype 
	% Expected
	Decimal
	Total of ALL 

Vial 1 flies
	Expected # for this phenotype

	White-eyed Female
	25%
	.25
	172
	43


Vial 1

	Phenotype
	% Expected
	Decimal
	Total of ALL 

Vial 1 flies
	Expected # for this phenotype

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


Vial 2

	Phenotype
	% Expected
	Decimal
	Total of ALL 

Vial 1 flies
	Expected # for this phenotype

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


How do the Expected and Observed numbers and compare? 

- Determining % Error

1. Observed minus Expected (Absolute value, no negatives)

2. Divided by Expected

3. Multiplied by 100

Vial 1

	 Phenotype
	Observed
	Expected
	(O — E)
	(O — E) / E
	X 100
	% Error

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


Vial 2

	 Phenotype
	Observed
	Expected
	(O — E)
	(O — E) / E
	X 100
	% Error

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


Restate your hypothesis for your mutation:

If the mutation _________________ is _________________________________ in the P generation, then by the F2 generation the Expected Phenotype Ratio is _________________________________.

(Change % to Ratio by multiplying by 4.       Example-  75% : 25%  =  3:1)

Next Page for Analysis Questions.

1. Explain if the Observed Data close enough to the Expected to support this hypothesis.

2. What are some factors that could lead to a high percent error (observed & expected are WAY off)?

3. What changes could be made to ensure your observed numbers are more accurate?

